Yo--.-0becné Teseni
Yp....tvar partikularniho feseni (Véta 12.11.)
A, B, C, Cs....realné konstanty
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Yo = C1" + Coxe® + Caz?e®

1
Yo = g64:(: + Cle—x + 026390

yp, = Ae'®

Yo = x€” — 2 — 2% + Cre” + Che™™
yp, = Aze® ay, = A+ Bz + Ca?

1 3
Yo = 10 sinx + 0 cos + Cre® + Cye®™

yp = Asinx + Bcosx

T 1 3 . .
Yo = €° {C’l + 5 + 10 cos(2x) — 0 sm(2x)] + Coe™

2e*sin® x = e%(1 — cos(2z))
Y, = Axe” a y, = e"[Acos(2x) + Bsin(2z)]

3 4
yp, = 22(A + Bx)e® a y, = e*[A cos(2x) + Bsin(2x)]

3
Yo = €7 [x_ — 1si1r1(293) +C) + C’gx]

1

1
Yo = ——=sinx + ——sin 3z + Cre” + Coe ™ + Cze** + Cze™ "

20 260

sin z cos 2z = 1[sin(3z) — sin z]

y, = Acosx + Bsinz a y, = Acos(3z) + Bsin(3z)



